Chapter 13

MNote: wherever possible, values used in the solutions below are (aken
directly from the SAS output provided in the text.

1. oa  SBP=f+80UET+ 8,5MK + E

b Forsmokers: SEP=(8 + 4+ 40UET+E
SBP(adi}=(63.876 + B.5TL) & (22,1 16)(3 441) = | 48 548
For nomsmokers:  §8F= A + AOUET+E
SHP{adj)= 634876+ (22.116)(3 441) = 139.977

Adjusted Unadjusted
Smokers 148.548 [47 823
Monsmokers 139977 140 B

The difference in adjusted means is slightly larger than the difference in
wnadjusted means.

e H,:8=0 f, o4 20 inthe mode] SRP= A+ BOUET + 8 5MK + K
Test statistic; T =2 707
T follovws a ¢ dismbuotion with 29 degrees of freedom (df) under .
P vnlue: P =2pr(T = 2,707y =0.011
At a =005 we reject fly and conclude that mean SBP is different for smokers and
nonsmokers after adjusting for QUET.

d  Finding the 93 % confidence interval for the true difference in adjusted mean SBP
is equivalent o finding the 95 % confidence interval for &, .

Le. SEP o (adf} - SBP oy (adf) =8.571= 7,

The 23 % confidence interval for 4, equals:
By 2ty s+ Sy = BST1 2 (2045)(3.167) =(2.004,15.048)




